An illustration of Calculation in specimen with inherently two parts


                                                                                                                                             




	a/b
	                   RATIO  SUSC     MEDIUM 1 / MEDIUM 2

	
	 0
	    0.5
	  1.0
	  1.5
	   2.0
	2.5

	4.0
	0.071816
	0.071364
	0.070912
	0.070461
	0.070009
	0.69557

	3.5
	0.082887
	0.082436
	0.081984
	0.081532
	0.081081
	0.080629

	3.0
	0.105123
	0.104671
	0.104220
	0.103768
	0.103316
	0.102865

	2.5
	0.131563
	0.13111
	0.130659
	0.130208
	0.129756
	0.129304

	2.0
	0.169904
	0.169533
	0.169081
	0.168629
	0.168178
	0.167725

	1.5
	0.229407
	0.228955
	0.228503
	0.228052
	0.227600
	0.227148

	1.0
	0.329765
	0.329314
	0.328862
	0.328410
	0.327958
	0.327507

	0.5
	0.522185
	0.521734
	0.521282
	0.581787
	0.581335
	0.580883


This is a case of calculating induced field at the center of an ellipsoid [the case of a/b=1 refers to that of a sphere with ellipticity value ‘0’] when the ellipsoid had concentric regions with different susceptibility values. The ratio of the susceptibility can be varied and the calculation could be done using a computer program and the entire set of data could be obtained with the program which took a run time of about 2 minutes.
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